Basic Principles of Russian
Noun Stress



Russian stress types can often look complicated
and hard to remember.

| would like to present the stress types in a new
way.

The vast majority of Russian words has constant
stress on a fixed syllable in all of its forms. For
these words, you just have to remember where
the stress is.

Called type A, e.g. :xenynok, 6abyLiKka, géncrasume.

Can also be called “lexical” stress: a word (lexical
item) determines where the stress is in all its
forms.



More troublesome types of Russian stress: accent
is not on the same stem syllable in all forms.

Grammatical or morphological stress:
grammatical positions determine stress.

We will concentrate on Russian noun stress and
look at the singular and plural patterns as separate
units, since that shows the system better.

Singular and plural forms together are known as
the paradigm. Singular or plural forms alone are
subparadigms.

Two basic types of morphological stress are: type
B and type C.



Types B and C each have two possible stress
positions:

1. Type B can stress either the ending or the stem-
final syllable (right before the ending).

2. Type C can stress either the ending or the word-
initial syllable.

Recalling that type A can stress any stem syllable,
here is a diagram comparing all three, where the
underline shows possible stress for each type:

° A: # -...# B: #........ -_# C #__..... -__H




Russian Noun Stress

A: Trivial Stress
(on Stem)

B: Stem-final

(or on ending)

Non-trivial stress

C: Initial

(or on ending)




Here are some examples showing these stress
positions. For types B and C, the examples are
shown either in the singular or plural subparadigm:

1. Examples for A on different stem syllables: 6a6ywka,
Xenypok, 6onoto (stress remains on the same syllable
throughout the paradigm).

2. Examples for B on ending and stem-final:
BepeTeHO/BepeTéHa; cupoTta/cnpoTol

3. Examples for C on ending and initial: ronosa/rénosy;
ronosbi/ronoBam; Béaomoctu/BeaAo0MOCTEN



* Types B and C each can have two subtypes. Type B
subtypes depend on the genitive case ending,

while type C subtypes depend on the nominative
case ending.

e Let us start with rules and examples for type B.

Type B Stress Pattern Rules

Applies to: Both Singular and |Applies to: Plural only.
Plural

Genitive = Non-zero Genitive = Zero

Result: End-stress in entire Result: Stem-final stress In
subparadigm entire subparadigm




 The B subtypes are genitive case ending in a zero or
something else (non-zero). In the singular, there is
only the non-zero genitive and end-stress.

* Rule: if the type B genitive is zero, all
subparadigmatic forms stress the stem-final; if the
genitive case is non-zero, they stress the ending.

* Thus, the B singular has no opposition of B subtypes
and has a neutralized end-stress. But, B plural can
have both zero and non-zero genitives, so it can have
either stem-final stress (BeperéHa) or end-stress
(cTonbl).
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Examples of type B subparadigms with non-zero
genitive and end-stress (since all genitive
singular endings are non-zero, all singular B-
stress is end-stress):

A3bIK BepeTeHo CTpeKo3a
A3bIK BepeTeHo CTpEeKo3y
A3bIKa BepeTeHa CTPEKO3bl
A3bIKE BepeTeHe CTpeKo3e
A3bIKY BepeTeHy CTpeKo3e
A3bIKOM  BepeTeHOM CTPEKOo30M1
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Now consider the same nouns in the plural. Note that
the first noun also has a non-zero genitive plural, like
its genitive singular. But, the other two nouns have
zero genitive plurals, which causes them to have
stem-final stress in the entire plural subparadigm, as

follows:

A3bIKU
A3bIKU
A3bIKOB
A3bIKaX
A3bIKaMm
A3blKaMu

BepeTeHa
BepeTeHa
BepeTeH
BepeTeHax
BepeTeHam
BepeTeHamu

CTPEeKO3bl
CTPEeKO3bl
CTPEeKO3
CTpeKo3ax
CTpeKO3am
CTpeKo3amm



* Note that a type B noun has the same stress
throughout each subparadigm (either stem-final or
end-stress). (Mobility is only number mobility, i.e.
across singular and plural subparadigms.

* Type Cdiffers in that stress can have case mobility, i.e.
a single case form that differs from all the other cases
within a subparadigm (e.g. ronosa, but ronosy).

* This single opposed form always has a high vowel
ending (/i/ or /u/) and always affects either the Direct
(Nominative/Accusative) cases or the Peripheral
Locative-2 (e.g. Ha 6epery).



Thus, every C type subparadigm involves a
double calculation:

1. Determination of the possible single mobile
form.

2. Determination of the uniform stress of all the
other forms, except for the single mobile form.

The existence of a single mobile form depends
on whether there is a nominative, accusative, or
locative which ends in a high vowel (by
definition, one could say that a high vowel
locative is a “locative-2).



The stress of type C subtypes is based on the
nominative case. As with type B, the major factor is
whether a zero occurs.

1. If the nominative zero or mid-vowel ending, all
subparadigmatic forms have initial stress, except for
the single mobile form, which has end-stress.

2. If the nominative has something other than a
zero/mid-vowel ending, i.e. a high or low vowel (i, a),
then the subparadigmatic forms are the opposite,
having end-stress, except for the single mobile form,
which has initial stress.

This pattern is illustrated in the following table.



Type C Stress Pattern Rules

Nominative = Zero/Mid Nominative = High/Low
Applies to: Singular only. Applies to: Both Singular
and Plural.
Result: Initial stress in Result: End-stress in entire
entire subparadigm, except |subparadigm, except for
for one mobile form: one mobile form:
end-stress in high-vowel initial stress in high-vowel
locative (Locative-2). nom./acc. (Direct case).
Mobile form = high-vowel |[Mobile form = high vowel
locative-2 nominative/accusative




Let us examine the range of type C singular subparadigms. Both
high/low and @/mid nominatives can occur here, yielding
primarily initial stress and end-stress.

* The first four examples in the table have zero nominatives and

end-stress only on high-vowel locatives (if they occur). Mid-
vowel nominative (3épkano) is similar.

ronosa represents the high/low class, with mainly end-stress,
except for a direct case in a high vowel. Mobile forms bolded.
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beper
béper
bépera
bépere
bepery
béperom
Oepery

BOSIK
BOMKa
BOIKa
BOJIKY
BOIKe
BOSKOM

BEJOMOCTb
BEOOMOCTb
BEOMOCTM
BEOOMOCTM
BEJOMOCTM
BEJOMOCTbIO

OCb
OCb
ocu
ocu
ocu
OCbtO
ocH

3epkano
3eépkano
3epkana
3epkane
3epkany
3épKanom

rornioBa
ronosy
ronoBbl
rofioBeé
rorioBe
ronosou




Here is the plural of the nouns shown above. Only the high/low
types of nominatives can occur in the type C plural (since there is
no zero or mid-vowel nominative plural); likewise, no high-vowel
locative is possible. The pattern is end-stress, except for the
syncretic direct case form (nom./acc.), with high vowel ending /-i/.
Opposed forms are in bold.
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bepera BOJIKU
bepera BOJIKOB
beperos |BOMKOB
beperax |Bonkax
beperam |Bornkam
beperamn |BOfIKaMu

B&OMOCTH
B&OMOCTH
BEJOMOCTEN
BEOOMOCTSX
BEJOMOCTSM
BEJOMOCTAMU

ocu
ocu
OCen
OCAX
OCSM
ocCAMMU

3epkana
3epkana
3epkan-g
3epKanax
3epkanam
3epkanamu

ronoBbl
ronoBbl
ronoés-J
rorioBax
rorioBam
rorioBamu




The stress behavior seen above permits some conclusions.

Both types B and C rely on zero or non-zero forms in the
genitive and nominative, respectively.

When no zero form occurs, B has a default end-stress in the
singular, while C has a default end-stress in the plural.

A zero form triggers the subparadigmatic use of the
distinctive stress of B (stem-final) and C (initial).

Since a zero ending cannot admit actual stress, this appears
to be the avoidance of end-stress in subparadigms
containing a zero. In the type C singular, mid-vowel endings
(marked negatively for both high and low) follow the zero
pattern, with initial stress (i.e. 3epkano, like ropoga), in
contrast to the end-stressed low-vowel nominative
(ronosa).



In addition to the pure type B and C types shown, there
are “mixed” types, with type B singular and type C plural,
or vice versa. Thus, the entire regular stress inventory for
Russian consists of five types:

1. Type A lexical stress with constant stress in all forms.
2. Type B in both singular and plural.

3. Type C in both singular and plural.
4. Mixed BC, with B in singular and C in plural.
5. Mixed CB, with Cin singular and B in plural.

BC examples: KoHb, ryba, o4uko
CB examples: war, Boga, o3epo



* |n the case of a BC noun, the genitive form would
determine the stress in the singular, while the
nominative would do so in the plural. For example,
KOHb acts like a B, with end-stress, in the singular
(koH4); but, like a C, with mobile stress in the plural

(KOHU, KOHEWN, KOHAMMN).

* For reference, examples of all the major types are
shown on the following table. The “pure” types are
listed as AA, BB, CC, to show that both singular and
plural subparadigms follow the same pattern, in
contrast to BC and CB types.



Basic Inventory of Nominal Stress Types in the Main Russian Declensions

Nominative in Zero

Nominative in -a

Nominative in -0

pak, nagoHb AA

CTOJ, NYTh BB
3y0, HOYb CC
KOHb BC
cag CB

nuna AA
XeHa BB
rornosa CC
ryba BC
BoAa CB

65110Ko AA
YNUCIO, OYKU BB
Mope CC
BELLEeCTBO BC
03epo CB

It also should be noted that there are some exceptional groups that
don’t fit this model. One of the main ones is a group of loan words,
largely from Caucasian, Central Asian, and Old Church Slavonic
sources, which have type B end-stressed plurals, in spite of their
zero genitive plurals and expected stem-final stress. E.g. Tamaaa;
plural Tamagapl, not expected *tamapgebi.




Note that bisyllabic stems (kdnokona, konbacel) distinguish
initial and stem-final stress. We can infer that similar
monosyllabic stems have the same pattern, (B6aKa, BOAbl),
since there is no singular pattern of stem-final in a singular
noun like kbnokon and no initial pattern in a plural noun like
kKonbacel. Thus, | identify Konokon and Bonk singular stress
patterns as type C, and also Konbaca and Boaa plural stress
patterns type B.

Lagerberg criticized my system for using “historical” data to
conclude that the similar stresses of singular sBoak(a) and
plural B6a(b1) are really different. The point is that you do not
make phonological conclusions about neutralized forms!

The final phonemes of Russian [kot] can only be determined if
we look outside word-final, since that also is a neutralized
environment (chabasa no3suuusa). Cf. Kota, Koaa.



* Survey of how the subparadigmatic
paradigms function on the level of
full paradigms.



. AA types with constant stress throughout, on any stem syllable. (a6noko, wenynok, y4exuua)

Desinence Desinence
Type AA Initial  Medial Stem-final (Ending) Initial Medial Stem-final  (Ending)
ABnoHo N X : N X :
A X A X
G X G X
L X L X
D X D X
I X I X
(L-2)
Result: Constant initial.
Desinence Desinence
Type AA Initial  Medial Stem-final (Ending) Initial Medial Stem-final  (Ending)
WEenynox N X N X
A POX A PX
G FOX G : X !
L : X : L : X !
D | X | D TEE
I : X : I : X :
(L-2) 5

Result: Constant medial.




Type AA

yHEHWLLE

Desinence Desinence

Initial  Medial Stem-final (Ending) Initial  Medial Stem-final  (Ending)
N ! X N ! ! X
A X A X
G X G X
L X L X
D X D X
I X I X
(L-2)

Result: Constant stem-final.

Il. BB types, where plural stress depends on presence or absence of genitive zero-ending. (y4eHuk, pemecno, konbaca

Type BB
YUEHWK

Gplz@

Desinence Desinence

Initial  Medial Stem-final (Ending) Initial  Medial Stem-final  (Ending)
N : X N : : X
i X Jal X
G X G X
L X L X
D § X D § § X
| : X | : = X
(L-2)

Result: Constant desinential.




Desinence Desinence
Type BB Initial Medial Stem-final (Ending) Initial Medial Stem-final  (Ending)
pemecno N | ; X N | | X
Gpl=g A X A X
G X G X
L X L X
D X D X
| ; : X | X
(L-2) i i
Result: Entire singular vs. plural (number mobility).
Desinence Desinence
Type BB Initial  Medial Stem-final (Ending) Initial Medial Stem-final  (Ending)
konbaca N : : X N X
Gpl=0 A X A X
G X G X
L X L X
D X D X
I X I X
(L-2)

Result: Entire singular vs. plural (number mobility).




lll. CC types:
A. Singular stress depends on whether Nsg ending is “@/mid” or “high/low”

B. Case mobility depends on whether direct (NA) and L2 cases have high vowels (i, u).

(3y6, BEQOMOCTL, rONOBA, 3€PKano, ropoa)

Desinence Desinence

Type CC Initial  Medial Stem-final (Ending) Initial Medial Stem-final (Ending)
376 N X i ! N X i !
Nsg= A X A X :
“@/mid" G X : : G : X

L X L ! X

D X D X

I X : : I X

L-2 E E X

Result: Number mobility in oblique, leads to pressure to change Npl to —a, with full number mobility, as in zopod.

Desinence Desinence

Type CC Initial  Medial Stem-final (Ending) Initial Medial Stem-final  (Ending)
ségomocts | | N X i i N X i i
Nsg= A X : : A X !
"O/mid” | [6 X G ; X

L X ; ; L ; : X

D X D X

| X 5 | E X

(L-2) i i

Result: Number mobility only in oblique cases.



Desinence Desinence
Type CC Initial  Medial Stem-final (Ending) Initial  Medial Stem-final  (Ending)
ronoea N : : X N X ' :
Nsg= A X A X
"/ G X G X
L X L X
D X D X
I X I X
(L-2) _
Result: Number mobility only in the nominative.
Desinence Desinence
Type CC Initial  Medial Stem-final (Ending) Initial  Medial Stem-final  (Ending)
3EpPKano N X N I X
Nsg= | |A_ X i A i e X
"@fmid” | | G X i i G i | X
L X E E L E ! X
b x ] > s | X
| X ; | ; ! X
(2) : ;

Result: Number mobility in full paradigm.




Type CC
ropon

Nsg=
“mj'rmid“

Desinence Desinence

Initial Medial Stem-final (Ending) Initial Medial Stem-final  (Ending)
N X i : N : ! X
A X A X
G X G X
L X L X
D X D X
I X I X
(L-2)

Result: Number mobility in full paradigm, thanks to new —ao ending in direct (NA) plural.

IV. BC mixed type: singular stress follows B type and must be end, due to non-zero Gsg. Plural stress follows C type and

cannot be fully initial, due to no possible “@/mid” ending in Npl. (reosgs, ry6a, cywecrso).

Type BC

reczgop

Desinence Desinence
Initial  Medial Stem-final (Ending) Initial Medial Stem-final  (Ending)

N ' X N X

A X A X

G X G X

L X L X

D X D X

I X I X
(L-2) i i

Result: Number mobility in direct (NA) cases only




Desinence Desinence
Type BC Initial  Medial Stem-final (Ending) Initial Medial Stem-final (Ending)
ry6a N E X N X E
A i X A X i
G § X G § § X
L E X L E E X
D § X D § § X
| : X ! : : X
(L-2) .
Result: Number mobility only in direct cases NA.
Desinence Desinence
Type BC Initial  Medial Stem-final (Ending) Initial Medial Stem-final (Ending)
CYULECTBO N X N ' X
A : X A X
G : X G X
1 § X L ; ; X
D = X D X
I X I X
(L-2)

Result: All end-stress, no mobility.




V. CB mixed type: singular stress follows C and plural stress follows B (can, soaa, o3epo).

Desinence Desinence
Type CB Initial  Medial Stem-final (Ending) Initial Medial Stem-final
can : : N ! !
X | A | X
X ' G ' X
X : L : X
X D X
X | X
Desinence Desinence
Type CB Initial  Medial Stem-final (Ending) Initial  Medial Stem-final
] : X N : ! X
Nsg= A X
"i/a" X G X
Gpl-@ X = X
X D X
X | X

Result: Number mobility except for accusative; accusative mobility cannot be realized due to no polysyllabic stems in
this type, neutralizing initial and stem-final positions.




Desinence Desinence

Type CB Initial  Medial Stem-final (Ending) Initial  Medial Stem-final  (Ending)
o3epo N X ' ' N ' X
Ngg: A X A E X
n gfrmid“ G K -G i }{
Gpl=0 L X i | L i ! X

D X D ' X

I X I X

(L-2)

Result: Number mobility within stem, opposing initial and stem-final, due to bisyllabic stem.




A quick glance at how verb stress works:

* Present tense verb stress is much simpler than noun stress. The roles of B
and C are reversed.

* In nouns, type C (initial~end) was mobile, but for verbs type B is mobile
(stem-final~end) and type C has constant end-stress, a kind of role reversal.

* Type B stem-final is conditioned by an ending in a vowel (nto6nto, no64,
nobu; but nobut).

Table 5. Verbal Present Tense Stress Opposition of AP B vs. C.

AP B AP C
Stem-Final End-Stress Stem-Initial |End-Stress
Stress Stress is ad- Stress Stress is ad-
Desinence: - vanced when vanced to all
VC. desinence is -V# | Does not oc- desinences.
(i.e. desinence |(i.e. desinence is |cur in
consists of a a single vowel) |present. E.g. govorja,
vowel followed govorid’, gov-
by a consonant) | E.g. pro#i, pro- orjat

si, prosja
E.g. prési¥’,
prosjat




* |In the past tense, there is no difference between stress types B
and C, since the past is considered a derived form, and B and C

merge when derived.

* A combination of stem-size and stem-type allows us to predict
B/C merged past tense stress in almost all cases. Here is a table

that shows the rules:



Table 6. Verbal Past Tense Subparadigm (non-trivial AP B and C

merge and stress is predictable).

Longer, heavier stems.
Non-suffixed obstruent stems and
syllabic root+suffix.

Stress: No stress mobility in past

Shorter, lighter stems.
Sonorant stems and non-syllabic

root+suffix.

Stress: Mobility occurs in past subpar-

proézilo, prézili

subparadigm. adigm, with advancement to the -a desi-
nence.
Non-suffixed Syllabic Suffixed | Non-suffixed Non-syllabic suf-
with mid vow- |and non-suf- fixed
el root. fixed with high/
low vowel root.
Obstruent stems | L Syllabic suf- |Sonorant Stems: | Non-syllabic root
(with mid-vow- | fixed stems: eg plus suffix:
el root): eg. govorila, proézilo, proZila; |eg. sobralo, sobra-
e.g. mogla, mo- |govorilo; prosi- | nacalo, natald. | la; porvilo, por-
glo; vela, velé. |la, prosilo. vala;
prospilo, prospalé.
2. Non-suffixed
with high or low
root vowel:
eg gryzla,
} strigla, krala,
klala.
Generalization |Generalization |Generalization of |Generalization of
of same APC |of AP Bstress |AP C, withrule |AP B, with rule that
pattern as in on stem-final that shifts stress | shifts stress to a-desi-
present tense: syllable: no stress | to -a desinence nence (rvalé). Before
stress shift to all |shift from stem- |(prozild). Before |other endings, stress
desinences. final. other endings, generalizes AP B
stress generalizes |stem-final: porvilo,
AP C stem-initial: | porvali




* That ends our survey of Russian stress. Due to
the large number of details, it takes many
hours of study to master the system.

* | hope this gave you some idea of what the
system looks like.



